EARAROBREBRT —5 XN—ZXBISH—F

20233858 (B) 17015048

Il 7 | SAIEEE | 1SR SR 3E (m | mewE - | v wo
[AXE%) 1 &:600,00H ~ 23#%&:210,000F  337%:120,000H  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
YN EEHFR : -1-1- - HMEIEY (S5
118lg|Vo—KrY3Y R o e Y i
R:Kkw =9I B:RUVER EUFHT7—L
p— — . MeRiG : S = JNFHSF &)
5 6| 7S5F 7RI~ 43 ne 1.(355).4 2-2-2-2 | 41.3 2 (4_450) B €
Ri/ITURN B:OVFT)LFEYR B EEEG R IEE RS
\ ~ 3 | 2R 1:35.4 4-4-4-4 | M11| — 1 469 |THER (&0
3|5/5 | FY/VOEY 5.0 P (o) | ARt
REVFOVY B4V NU=T KEBUS
— T — 4 3 | MRS 1:35.7 3-3-3-3 |#1.5] - 6 488 | HEEIEY (&)
4 3| RY ZITI—R 56.0 (1172 #) |FEET
RPIHAYI—R B:PIAYHIU ERT7—L
o i3 | SEEBA 1:36.0 7-7-7-6 | 41.0| - 3 | 467 | BIE— (BH)
517|7| ABAE—R 54.0 (1172 o |SEEE
RiZvF—74)L B:LYZF4T BHIT7—LA
9 4 3 | ZHREmSTE 1:36.5 8-8-6-5 | 41.5| — 5 53 | LEZEE (B4
6l1111¥2/0v7 56.0 21/2 1) | Bk -
R:AN/UFv—R B:EwFR—L MEHERSS
3 RS y 3 | B 1:36.7 5-5-5-7 | 42.0| - 7 | 474 |EEEEE (BH)
70N 4| A=Y RS4T " 5.0 ) 2 | @) mmcC
RTIAYYTISvya BRNZwYavIlL YNV ITr—L
~ S = hEREth : -6-8- - AIRES] (F%0)
RiFVh—0 B:T7YIT17 F3 EHEMPIS
@ 11— —BBIEfI
10—+— 8,6,3,5,4,2,7,1
20—F— 8,6,3,5,4,2,7,1
Sal=zr= 8,6,3,5,4,1,7,2
43—F— 8,6,3,5,1,7,4,2
o ILRE
B B 8 1,820 | | 94 R 6-8 280M4 5= 6-8 2,010 3EE 5-6-8 440M4
7B B 8 140/ 5-8 240 ==} 8-6 5,290 3EH 8-6-5 9,860M
6 110 5-6 120M
5 100/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




